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No. of Questions : 180
el #Y S - 180
Time : 2 Hours | | Full Marks : 450
oY : 2 gre] [ qorE: 450
Instructions : 1
3

This paper consists of Objective Type Questions and is divided into
Two Sections (1 & IT) as under :

TE TF-H Wﬁ.Wﬂ%ﬂmﬂTWﬂgdmfﬁ?ﬁﬁT%W
la) Section - I consists of 120 Objective Type Questions on General Awareness,

Mental Ability, Compsehension and Subject Awareness in some major
subjects.

(%) @S - 1 % 120 FgRe v A S, AR G AR Gt
7T A % g W) MR & |

(b} Section - II consists of 30 Objective Type Questions on (y) English
Language and (II) Hindi Language.

(@) @y - 11 % 30 Fgfeweia 5w () ot sy i (o) Tt M & 99w
AR &

A candidate is required to attempt as many questions as he/she can of

Section - I, and Questions 61" ANY ONE of the Two Language

) English OR (I) Hind} in Section - JT. SR

waefl 4 Ffd 2 e - Ty W - H & () 3 qr (ir

SRR vl B g W )R

NotefTI: (1} Each question cardes 3 (Threp) marks. One ek i gy
each incorrect answer. Zerg marl will be awasded for each educted for
queston. - Unattempte, g
WF 97 3 ({7 IO 5 ¥ rie o o |
Wimmmﬁmﬁﬁﬁmi - %Ww%

(3}
P.T.0
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(2) If more than one alternative answers seem o be approximate to the
correct answer, choose the closest one.

ﬁTﬂ%amﬁmﬁwqﬂwzﬁﬁzﬁzuﬁﬂﬁ.mﬁWHﬁw

g |

{3) Each question is followed by Four alternative answers (1), (2), {3} and (4).
One of these answers is correct. Select the corteel answer and record it
against the relevant question in the ANSWER-SHEET by darkening the
circle with Ball Point Pen as per guidelines.

Yol e & e e TN gemd 7, ¥ R (1), @), (3) T @) e
¥ gufiay vy &) 39 § B9 (@ TR & W B wet a9 e S
Hda P wERgE ¥ AT e @ B fréamar Sfud ga (eme) @
T @RS U §T wie wXd S |
SECTION -1
wrg -~ |
1. Who said, "Culture is a man-made part of Environment” ? .
(1) Herskovits {2y Malinowski (3) G.5. Ghurye (4) C. IH.Cﬂi]iE}f
By T - TR YAty @ ARt W &7 7
(1) eXHIde (2) HferawaD! (3) o w0 GRA (&) Ho THe Tl
2 Which of the following Articles of Indian Constitution deals with abolition on
untouchability ? '
(1) Article 16 (2) ‘Article 17 (3). Article 335 (4) Article 340
mﬁmﬁﬁﬂﬁmﬁmﬂaﬂﬁamﬁ@wﬁwﬁm%?
1) wmmaie @ wgwe 7 O ST/ (4) FTWIN
3. White collar crime is comumitted : ' |
(1) By poer people {2) By big gang
(3) By Elite class of society (4} By the common people
g aE O fapar A B

) e T TN (248 8 G
a) W\Hﬁgﬁﬁhaﬁm (4) M T &
o dﬂEE 3}?51&1‘11 because ;
4 Cabt;:: 1:;, ased O eligion (2) Itis ascribed status
ng | related o Tadition (4) Itis related to Jajmani system
" v T B
| meqﬂiﬁ?ﬁ% (1]%%@@:%%
('1} 3z < EFq?.'Faﬁ 3 % (4) FH R GfHTET T cifl
OB | |

(4)
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Varna system started in the :

(1) Vedic Period (2) Pre-vedic Period
(3) Harappa Period . , (4} Medieval Period
av} EpEver WRe g of

(1) 4Rs Ta o (2) STR-AfEE = A
(3) s=wn wpla # ' - (4) TgERlY w9g #

Who was the, Chairman of Backward Class Commission, which has proposed
27% reservation for the Other Backward Classes ?

(1) Kaka Kalelkar (2) B.R. Ambedkar

(3) B.P. Mandal (4) Jagjeevan Rém

Resr of swimr o7 ser 817 on Rt ar Ao ot @ R 279 e &
W v 7 :

(1} F1o FiesT (2} Fo o e

(3) dio o wuzw (4) oo T

Cﬂnﬁna]s are born." Who said it 7

(1) Sutherland ~ (2) Lambroso  (3) Gogard () Taft
el e ter e B rmm wam 2 7

(1) HITeg (2) omEr (3) e (4) Twe

In which year "Swarn Jayariti Gram Rajgar Yojana" inacted 2
vt Sl I AR A v o ey eg o 2

{1) 1998 2y 1997 (3) 1999 (4) 2000
Who has propounded the eyatical theory of social change ?
(1) Kart Marx (2) Pareto
(3) Auguste Comte (4} Herbert
(1) Fr wd (2) e
(3) srmeE W (4) &¥E WY
What is the name of the writer of book "Républic’ ? :
(1) Davis (2) Axistgtle (3) Plato - 4) §
Rufems” (<@ & Qe o 7 THE? pencer
(1) 3w (2) aRwY, (3) wier (4) Wy
“Sampurnanand Ashram" is associated with Wbt e following 7
(1) Borstal Schaol- (2) Open Jail
(3) Closed Jail (4) Remand Hon..
TR, S Sufofem ¥ fowg wgz ¢ -
(1) dRe W (2) W

15)

P.T.0.
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12, Who first of all used the term "Sarvodaya™ in Indian Politics ?

(1} Vinoba Bhave _ (73 Radha Kamal Mukhetjee
(3) M. K. Gandhi (4) Narendra Dev
AT AT WO SR & uuer AT T T 7
(1) fa=an wrd (2) TR @ Rl
(3) THo o i (4) #I €9

13. "Where there is life, there is sociely.” Who said ?
(1) Machver and Page {2 Gallin and Gillin
(3} Davis (4} Johnson
Sy o e ¥ aE e # a0 R Fel Y
(1) rFEas od O (2) ffer ferfors
(3) 4w (1) wiaree

14, ‘Chipko Moverent’ was led by
(1} Muedha Fatker (2) Sunder Lal Bahuguna
(3) Baba Amte : (4) Urma Bharh
BT sl dmTe fha Al
(1) &6 wieaR 4 ~ (2) R aE
(3) Fmar s A (4) =1 @

15. Which is nof the characteristic of joint family ?
(1) Common kitchen . {2} Formal relation
{3} [oint property (4 Common God
il A B e ST IRER B e 7
(1) e Y C () shoERE wE
(3) ﬁ?ﬁ“mﬁi (1) MO LA

16.  Which one of the fullowing most appropriately defines Psychology ?
(1y A science of mental processes
(2) A science of behaviour
(3) A science of cognitive processes
{4} A gcience of behaviour o ud~ cognilive processes
Preafafire § Q v TANMSE aeffid @0 % oiafie ween ® 7
) it WA ® U8 et ®

- EZATEIRR:

Al HIE
3) Hﬁll{ (@ Gl YRR 4 Fre S
(4) T

. of the lollowing first considered conscious experience as a process ?

o WillEs 3 Woolworth — ¢4) 7
L (2) WilliamJames LY (4) Titchner
(1) MEDOE s vl g vt o0 (SR o i -
e L P e O T
E‘l} =

(6)
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Which one of the following methods most reliably examines the cause-cffect
relationship between two variables ?

{1} Correlational method (2} Observation method

{3) Experimental method (4) Field experiment method
frmfefte & @ B0 Bt < aRawlt 3 dw FRU-PTE e @7 wdur Reae
T e & 7

(1) Hew==iy Ry {2) g fafer
(3) warTHE AR _ (4) dr=rvr fafy
Which part of retina is responsible for colour sensation ?°
(1) Rods {2) Cones (3) Bipolarcells  (4) Opticnerve
SieuTH W |1 9T ) WY GEE @ g fmer 2 2
(1) w8 (2) @) e (4 3w
Which one of the following is most important part of hearing system ?
{1) Cochlea canal {2) Semi-circutar canal
(3} Pinna (4) Eustachian tube
- PrfRe & & B sordy 1 v e e 22
(1) St et (2) IFFTHR ol
(3) (4) Ba-wf it
Which one of the following controls and executes visual sensation ?
(1) Parictal lobe (2) Occipital lobe
(3) Temporal lobe (4) Frontal Tobe
Frefefs & B9 gfte W o Frasm v deres we & 7
(1) nf¥sw wve (@) Yo e
(3) 9 @y (4) 317 @Us
Which one of the following propétinded the cansept of figural persistence 2
(1) WErtl'lgimer (2) Kohlar {3) Rubin @) Broadben
Preafefrer % & B5a% sToMRem 3 wrem = v, Ry o o
(1) g () P (3) v W egn
When we perceive a stable poltttof light aswmowing-ir a dark Foom, it is called -
(1) Alpha movemeni (2) Autokinetic ph%ﬂ'lﬂnon ed
(3) After-effect | | (4) Straboscopic Movemen;
¥4 &9 S T A f) A *.ﬁmﬁgﬁnﬁ?ﬂa%@ﬁi 9
(1) s R O Wl O T
(3) wEHFA ) PRy
(7)

F""I‘_[l
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24,

25.

26.

27.

28,

Which one of the following theories of personality cannot be put in the category
of "trait” theory ?

(1) Allport'stheory (2} Sheldon’s theory

(3) Cattel's theory {4) Eysenck’s theory

s B Srefig Rrardt 3 € e e frgra A A 3 T e o

Hahdf 7

(1) 3maae &1 Regrd (2) droeA o Rgr

(3) Hewt B fogra (4) wTE = RE

Which one of the following proposed the ‘multifactor” theory of inlelligence ?
(1) Thorndike (2) Binet (3} Thurstone (4} Spearman
Prefafe 4w fres afy & Cagewem e o ey o om !

(1) ofieEs ) & (3) wRA (4) WA
Which one of the following developed the "Stanford-Binet” intelligence est ?
(1) Binet (2) Stanford (3) Terman (4) Cattel
~EAEE-RY qfy e 7 fwtor fwe famr ar?

(1) faa (2) ETHIE (3) ex T (4) &2
Which one of the following gave the concept of "mental age”?

v Wedhsler {2) DBinct {(3) Spearman (4} Thorndike
R AT T Wi (e wege & o6 ?

(1) J (2) fa (3) whRi= (4) deED

Which one of the following used non-sense syllabus first in his experiment on
memory 7 ‘

(1} Battlett (2) Ebbinghaus  (3) DPaterson (4) ]Er.k'jm
e @ v A, el vt a7 Swa et fery fmm o ?
(1) greee (2) sfEfa .. ©) frexm T (4y =8

i ot the following is regarded as a stage of remarkable development

of ph}rsicﬂj and mental abilities ?

() Infancy (2} Early Childhood(3) Adpiescence ) Adulthood
T R T e Aot @ e Y SR A

e & 7 ) [errEern 4

1) S () Tareamen  (3) (4) FEEHTRET

Which one of the following studies rneasures i3 used in activities of brain cells
1C . 3

. of emotion

in the gl’[a:ﬂ ometer (3} EBleciroencephalogram

(1) Gav (4} Pneumograph

(8)
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WO B amwen # afes @frewd @ Gt ¥ snom e Rrefaia § 9
foees gmr S omn & 2

(1) freardres (2) FogIEERISATTH
(3) eSS (4) "RTE .

Price consumption curve of a normal commodity is: .

(1) Negatively sloped (2) Positively sloped
(3) Horizontal (4) Vertical '
U WA T FT Df SUANT a5 2T &

(1) oI &vel are (2) e eHe =Tt areT
3) dfdw ' (4) o

Which form of monopoly regulation is most advan tageous for the consumer ?
(1) Price contro)

(2) Per unit tax

(3) Lump-sum tax

(4 All theabovp three are equally advantageous

e J&R &1 @ Rt Suwver @ e wdife s @ 2

(1) o PR :

(2) ufY sord wv

3) T e

(4) STEFT D= WA o) ¥

Which one of the following pairs is mef correctly matctiea 7

{1) Period Analysis — Marshall (2} Compensation Principle - Pareto
{3:! (Genearal Eq’[ﬂﬁbt‘lum - Walras {4) Mﬂxgha!.-‘ﬂhhty — Jevons
frefofan % & BF-91 16 30 yfm T8 & -

(1) ret Freereor —fer (2) sy R - e
(3) W A - AR L (&) T SR — S

Discriminating monopoly i8‘possible when :

(1) two markets have increasing level of costs

(2) two markets have dEﬂ'easing level of costs

(3) two markets have same elasticity of demand
(4) two manikets have diffesaqt plasticity of demand
(1) <) Qo & AT A G Wy By

(2) < art # W BTN g ww gy

(3) @ a3 o B @ T

maqmrﬁ'ﬁﬁhaﬁaﬁﬂﬁﬁ,gjx

(9)
PTO.
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35. Name the Fconomist who distinguished between value in use and value in
exchange and gave the famous example of diamonds and water :
(1) David Ricardo (2) Adam Smith
{3) Karl Marx (4) Alfred Marshall
I AL FT AW TERY SAE SuErT e T Rfrr Tea @ 49 A e e
ERi aur wie @7 afbg werewer 031

(1) 3fs Rare (2) vea fee
(3) #1& AT (4) ASFe W
36. Uncertainty Bearing theory of profit was propounded by :
(1) Knight (2y Clark . {3) Marshall (4} Hawley

o @ et e fagra hise e o
{1) -gc g™ (2) TATE R 3) #ef g™ (4) BES E

37. Who gave the eradit money based equation of Quantity theory of Money ?

(1) John Stuart Mill {2} David Ricardo
(3} Trving Fisher (4) A.C. Pigou
Heil 1 GRETT RigTva @1 T HET omaRa et fve a7
(1) w7 vgare fAe 2y e Rl
(3y R R (4) To o Gy
38, The slope of the consumption function reflects : |
(1) Aggregate consumption (2) Marginal propensity {o conswne

(3) Average propensity to consume (4 None of the above
TYRF] e ® @reE mEeRT EEal & -

() T SR | (2) W ST S

(3) sher ST male (4) vodaa ¥ | B T
a9, Who regulates monetary and banking system in India ?

(1} State Bank of India (2) Reserve Bank of India

(3 G oyernment of India ' (4) Indian Parliament

";[ﬁiﬂ § AR AR JUITE T R B PR E 7

) R we fo (@) s e ¥

) R (@) W s

@) W B .

’ ' f

. od unemployment is a feature ©
40. D"Sg%uzze (2) Transport (3) Industry
e % il (2) ARTORT B (3) W W @) i o

(4) Agriculture

(10)
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41, Narsimhan Committee was appointed to make recommendations for :

(1) Agricultural reforms - (2} Industrial reforms

(3} Insurance relorms. - (4) Banking sector reforms
TR afife o o, Rrefel s & fne -

(1) B8 QuRl & W § (2) renfre guwi & Heu &
(3) & guRt & e F (4) 7 &3 & P & Faw A

42. As a percentage of GDP, which type of deficit has been estimated to be
maximurn for the year 2017-18 in case of Central Government ?
(1} Revenue Deficit (2) Effective Revenue Deficit
{3} Fiscal Deficit (4} Primary Deficit
Se o dlo & wRwT § FY 4 ey & a2 9 oy aeew @ dew § at
2017-18 & ferv watfers smesfoa famm oy & 2
(1} o9 wier (2) el T I
(3) VoM Trer (4) wrfie e
43. What is the population density in India as per the 2011 census {Nu. of persons
- perkm’ of area) ?

2011 F T $ AAER Awa ¥ omaen wee @ o B @ am B
Aot &t we) gar @ ? '

(1) 367 (2) 382 ) 247 o e

44. ‘Jawabhar Rozgar Yojana' fof riral employment was. d in the vear
AT MR o To0 Sare? IR AT B e

(1) 1959 (2) 197 - (3) 1969 (4} [9RG
45. The aé)pmxlmme ratio between the rural and urban pﬂpuia'mn n India is :
Aot sfie el Imeier & A oI drTOTe
(1) 4:1 (2) 61 (3) 7:2 ) 83
46. ‘Sangam literature’ relates to which region ?
(1) South India (2) Nurth East}n;_{m
(3) Cenlzal India {4) None of thege
i wiger aﬂmaﬂﬁ:—ﬂﬁ’r’fﬁ??
- (1) <fam - (2) TR g
(3} "1 ¥Rd (1) 379 & o wlt
47. In which of the following are the Fuyr Varnas fipgt mentioned ?
(1] ngveda (2) Yd]l'M {";} Pur1n55 {‘i-‘j .
Fawerd R Ul & IeorE B8 PR & - Upatjshas
(1) g # (BT § (3) o @ ‘
| . TRGT
{11y .
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48. What is the main subject of the Upanishads ?
(1) Mathematics (2) Philosophy (3) Health Science {4) Fine Arts

SurER] W q& ey @ @ ?

(1) 7t (2) ¥ (@) wrea R (4) afEE e
49. The earliest Punch Marked Coins of India are of which metal ?-

(1) Gold (2) Silver (3) Bronze (4) Copper

WG B I aned e R org ¥ fafa & 7 |

(1) zaof (2) =7 (3) wra (4) T
50. Who was the father of Mauryan Emperor Ashoka ?

(1) Ajatshatru (2) Bimbisar

(3) Bindusar (4) None of these

A wre e @ for d P

(1) Iy (2) RfFEER

(3) R=wR () 7= | P A
51. Wl is believed to be the composer of ° Mahabharat' ?

(1) Valmiki (2) Gautama (3) Bharadwaj = (4} Vyas

weRE @ TR e A S € 7 : '

(1) gt (2) e {(3) IRg (4) =4

§2. Which ancient king was also known as 'Shiladitya’ ? ;
(1) Chandragupta (2) Pushyamitra (3) Mihirbhoj (4) Harsha
aﬁ—rrnr:ﬁﬁwﬂmﬁéﬁr F 9H ¥ f S e e Y

(1) 7= (2) gt (3) Ffeedrat @) %
53. The department of military administration during the Sultanate period was

known as '
(1) Diwan-e-Insha (2) @wan—e- R;sal:;h |
(3) Diwan-e- -Ariz (4), Diwan-e-Mustakharaj

ﬁ’ﬂﬁﬂ'ﬂﬁﬁﬂmfﬁ?ﬂﬁmﬁmmm?

a;-a:—;! =0 (2) Srare-g-ferere
g} - (4) SR TRIERT
[;.hr.hed the 'Khalsa Panth’ ? |
s W (2) Guru Atjun Dev
wu Gobind Singh
': ] i 'I' gEahadur [4) Banda Bahadur
(3) O e ) @ 7
Gl ad R 2 e T 20
OROIEC: ( (@) ¥ T
(3) %

(12)
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55. Jagirdari system was the internal component of which system ?

(1} Mansabdari system (2} Igta system
(3) Aayangar system (4} None of these
s Rl et 1 siaRe ae o7 ?
(1) wTaer) sgewen {2) ‘gaaT e
(3) W e (4) &9 A B 718 |
6. For which®of the following reasons in the Batfle of Chausa (1539 AD)
importamnt ?

(1) After the war the Mughal empire collapsed
(2) Shershah decisively defeated Humayun
(3). Akbar adopted the Southern Route

(4) Humayun reacquired his kingdom

AT BT 4E (1539 $o) B weey Prw Hr £ 7
(1) 59 3¢ & 9T 5710 WHHT T oo gon

(2) ¥Rwms ¥ g &Y Prfaw ER A

(3) IHR A </ B A7 sgEE

() T * 7 wrow wa R

57. When was the East India Company established ?

(1) 1602A.D.  (2) 1600 A, D, (3 1664A.D.  (4) 159 A. D.

¢ T A TR Y

{1) 1602350 (2) 1600%0 (3) 1664 §o (4) 159 Po
58. Who was the prﬂpnnf_;'ﬁt Gf'ShutiﬂTli Aandolan’ 7

() Raja Ram Mohan Roy (2) Swami Dayanand Saraswati

(3} Keshab Chandra Seiy (4} Swami Vivekanand

Y T B gacle 1 9 7 | '

(1} wrar o 9w 719 (2) T 3YFiT Wvwrdy

(3) BIR T A (4)@@;;::@ i

B LT

59, "Downward Filtratiow-Gangapt” relates to which of the following 7
(1} Education {2} Press

) RETWays il
" (AR Rigia’ 31 T Ry £ 7 ) Bank

60. Opium War is related to ;Vh;d’l country ?
ermany (2) France _
o g o R g S O oy
(1) o @) wa (3) - @) 4y
| {(Tay

PT0
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61. Which phylum has the largest number of species ?

(1) Arthropoda {2) Mellusca (3) Echinodermata (4) Annelida

%mmﬁm'q?iwgﬁrcﬁmm o & 7

(1) m‘ﬁﬁr (2) TR (3) ggrEEer  (4) viferEn
B2. Method of rearing of silkworm is known as . :

(1) -*'-"-Pic'ulmre (2) Sericullure (3) Pisciculiure {4) Uorticulture

%F"” & afd @ urer-uer @ A o w8

(1) vftmea (2) ARBeT (3) Afteem @) Eimone
63. ' Muscles in the body are consisted of :

{Flrzh L_';pid PF{?.] Carbohydrate (3} Protein (4) Vitamin

Sv A et feed e Rl 8 ?

(1} & (2) TR (3) WA (4) foefRe
84. 7The normal systolic pressure in human ranges from

(1) 140- 160 mm of Hg (2) 120 - 140 mm of Hg

(2} m\n_’n - 180 mm :‘n:f' Hg S 180 - 190 mm of Hg

ﬁmnwﬁﬁmﬂﬁiﬁﬁmﬂﬂmﬁﬂ%: _

(1) 140- 160 B! T (2) 120- 140 el O

(3} Lo - 180 M i - (4) 180 - 190 fif ara
65. Which of the following is taken by athletes to increase their muscular power ?

£1) Clucose {2} ]H:‘éLlhn

(3} Anabolic steroids (4) Epinephrine

Rrardt arr eORnd @) widd wer 2g fre 3 & e e 8 7

(1) =gerd @ Tyl

(3) wrEifn g (4 TR
66. Which one of the following organ is mainly involved in immunity ?

(1) Thymus 2} Pancreas (3) Ad}'enal (4y Thyroid

ﬁpqﬁﬁﬁ.mraﬁrmiﬁg@m@wﬁmﬁ? ]

(1) WEFE (2) AR (3) GETed (4) JTiES
§7. Which of the following organ is highly affected by excessive consumption of

alcohol ? ;

1) Liver ~ (2) Kidney (3) Lung (4) Heart

&ﬁﬁﬁ;{ﬁﬂﬁﬂfﬁvﬁﬂ &3 ¥ FlAoar o TEd e yaIlEd gk § 7

t'll) - (2) 17 (3) BT (4) ¥<a
g8, Artificial Kidnev machine can clean the blood through the process of :

" ) OsmOSiS (2) Dialysis (3) Plasmolysis  (4) Haemolysic

| qﬁﬂ:ﬂﬁmﬁﬁiﬁmmﬂﬁﬁﬂﬁm%?
gl?iﬁ{{” R (@) wulafhg 3 A R {4) et

(14)
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73.

74.

75.
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Nicotine is found in -

{1} Alcohol {2) Tobacco (3) Marijuana {4} Betel
e e o st & 7

(1) Yowrei & (2) T ¥ (3) Wi & (4) @ %
Faod is digested completely in the :

(1) Liver (2) Stomach

(3) Small intestine (4) Large intestine

IS T 9T Het W) ol @ 7

(1) =P ¥ (2) ammera ¥

(3) O affa o (4) =& aoffer

Myopia is the disease associated with :

(1) Ear (2} Nose (3) Lung (4) Eyes
I e s & wefug A &7

(1) & (2) . (3) wwer (4) &g
Which disease is caused by the bite of mad dog ?

(1) Rabies (2) Mumps {3) AIDS (4) Tetanus
U B[ B BIEY A W ¥ By 2 7

(1) ¥ (2) W= (3) T @) e
Which of the following is a viral disease ? '

(1) Small Pox (2) Tubercwlosis  (3) .Tetagus (4) Malaria
%ﬁ#—wmwﬁwwm%?

(1) e ey (2) ¢qTmai¥dm  (3) feesw (4) HaRar
AIDS it caused by :

(1} Fungus (2} Virus (3) Bagterium {4) Helminth
TEH $T BRT 2l 8

(1) w7 (2) fammy (3) sy {4) tafr

Deficiency of which Vitamin causes Night Blindness ?

(1) VitaminK . (2) VitaminE (3) Vitamin B {4) Vitamin A
i et &t w0 & T frmly ity

(1) faofm & (2) ferfim § (3) feerfm & (4) e o

Polio is caused by :

(1) Fungus (2) Insect (3) Bacterium (4 Virys

ey w1 weer €T &

(1) wa% (2) #1E {3) offang (4) Rroy
115)

PTo.



17U/104/1(Set-)

77. Which of the following celestial bodies has its own heat and emits light ?

(1} Natural Satellite (2) Planet
(3) Star (4) Artificial Satellite
%ﬁ%ﬁaﬁmﬁréﬁﬁfﬁﬁﬁmﬁﬁﬂvﬁm:%aﬁ?nmaﬁﬂﬁﬁ?ﬂm%?
(1) @ QIR 2y TH
(3) (4) Fm SUgE
78. Select the incorrect pair [rom the following
(1) Rotation of the Earth - Day and Night
(2) Revolution of tilied Earth - Seasons’
(3) Eartl's gravity - Holding of atmosphere
(4) Revolution of the Earth - Coriolis effect
Frfaiun % @ T e 9679
(1) gt @1 g9 : i £ iR T
(@) TN g TR R - s
(3) g I TTEETDUT] 5 o TYHEd T TEN
(4) oA @1 gREmHY - FiafeE g

79, Select the wrong statement from the followmyg:

(1) Trade winds are caused h.g.* convection’
(2) Most of weather phenomena takes place in Troposphere

{3) Roaring forties are strong westerly winds
(4) Chinook is cold wing that blows on eastern slope of Atlas mountain
fpfafigg & O Teld $UT gﬁ'ﬂz :
(1) @R gami Hded ¥ e sl §
(2) aftreste derd At evee # wfea BN #
(3) et el e afed g B -
(4) Brpp W@ o8 FE S veerT udd B g e W WE R
80. Deflection of winds to left in southern hemisphere is caused by
(1) Revoiution of the Earih (2) Rotation of the Earth

(3) [nclination of the Earth atits axis  (4) Flattening on poles
mmﬂrﬁiﬁiﬁmﬁﬂﬂmﬁﬁﬁmzﬁnﬁméz

(1) g 7 SIE 2 - @) yoh @ i
) it 71 S0 96 FEH () R

(16)



81.

g3,

Which of the following clouds is nearest to the Earth surface 7

{1} Cirrus {2) Altocumulus
{3) Stratocumulus {4} Nimbostratus
Frfeed arael § & @ exrere 3 wad o T T 2 2
(1) ™ (2) PO Hey

(3) Wit TR : (4) @8l wR_
Which of the following types of precipitation is Hailstorm ?
(1) Convectional (2) Orographic
(3) Cyclonic (4) Artificial
srengfe frefafaa 4 & B wor @ o £ 2

(1) wagg (2) uddr

(3) =EhaRiT @ Fhm
Monsoon arrives in India in early June at :

(1) Kerala coast (2) Konkan coast
(3 Eqstem ghat : N (4) Gangetic plain
CIRGIR H B U ¥ yder

(1) %WT#E e {2) ey TR W
3) ydf oe w (4) wm Foe W

17U/104/1 (Set-t)

Which of the following is not correct about the wettest place on the earth ?

(1) Mawsynram is the wettest place on the earth

(@) Itisa village at Khasi hills in India

(3} This place is situated in Meghalajfa state of India
(4) Here the average annual rainfall is 11777 mm

T T i o e v F P ¥ P % % g v e o

(1) AARERH 72 W ST 99 ey w2
(2) T8 A~ § Gl gEnE v g 2

(3) 9E AT & AdTer ey ¥ ey

(4) wEf ofvwa affe aof 1ivPefng &

Which of the following regions of Indiarecerves fain by Wester

(1) North - West {2) South “Wegt
(3) Westerncoast (4) Eastern coast
e @ Frefifen SO % & R oftenh st @ aof @ & 5
(1) IR - uiEen (2) <R ey
(3) ufded RS (4) o wEene

(17)

distyrh, nees ?
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86,

87.

88.

9.

80.

g1,

92.

Raw materials and places of their availability for ISCO Burnpur are as below.
Which of them is incorrect pair ?

(1) Coal - jharia (2} Tron-ore — Singhbhumi

{3) Water — Damodar River (4) Limestone —Palamau :

E GO0 a—rﬁgq-c%-raqmmaammmqﬁmﬁw:rmﬁmmw%m%ﬁ@
@i ol WSl 8 7

(1) e - gRa (0) ee-orve - Riegf
(3) el - TrER A (4) TR — TR
Which of the following States is the highest producer of iron-ore 1
(1) Goa (2) Odisha (3) Jharkhand (4) Chhattisgarh
P oot & § B9 SRS B WA ST € 7
(1) v (2) sifeem (3) FwETs - (4) TEWTE
Which of the following is ‘pure’ raw material ?
{1) Colton {2} Trom-nre (3) Coal (4) Sugarcane
Freyien & & ¢ GE FT WS | 7
(1) ®ard (2) FE-IIE (3) ®TA - {4) A=
Which of the following States has the highest productivity of Sugarcane ?
(0 B (2) TamilNadu (3) Maharashtra (4) Bihar
ﬁmﬁfﬁﬂﬁﬂmﬁﬁﬁﬁ‘?ﬂﬁaﬁﬂﬁiﬂiﬁmmmﬁaﬁﬁé?
(1) ST oW (2) aiETg (3) TR . (@) faER
which of the following is a major mine of Manganese ?
(1) Dallirgjnara (2) Panna
(3) Balaghat (4) Khetri
Byffre % 9§ P AT @ T8 e B 7
(1) SrEATEd (2) o=
(3) FIGIELS (4) =gl
Which industry is famous in the Jajmau ? :
) Leather (2) Fertilizer (3) Potalochips (4 Jute
. ¥ wm e wiE C _? :
(1) T (2) T (3) ey o (4) &
g the Union Budget for 201718 presented in Lok Sabha ?
When % pruaty, 2017 (2) 8th February, 2017
(1) 1 copruiry, 2017 () 26th February, 2017
) BNE e o e s <o 8 T @1 8 o o 7
a 'lﬂlq;;ﬂ? 0 2y 8wwad, 2017 '
8 . (4) 28wl 2017

) - (18)
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Consider some of the following names :
A. Raghuram Rajan )
B. Urjit Patel

C. Arun Jaitley
D. Y.V.Reddy _
Who have been the Governor of Reserve Bank of India ?
(1) AandB _ (2) A,BandC
(3) B.Cand D (4) A,BandD -
A. THNH WoAT
B. Sfifa wde -
C. %9 s
D. aréo do v |
THIM R do S e § 7
(1) A9oB 2) A,BamC (3) B.Coer D {4) A, BourD
The first Indian waeman to be decorated with ‘Bhara Ratna'is :
(1) Vijaya Laxmi Pandit (2) Indira Gandhi
- (3} Bachendri Pal (4) Sarojini Naidu
ww-@rmmmmww g:
(1) Raesd dfeg (2) gfew T
(3) =& ot (4) TIRFN ag
Wha constructed Red Fort in Delhi ?
(1) Akbar (2) Humayun (3} Shahjahan (4 Auran
R St ot 7 e P o 7 RS
(1) e @ gy (3) MewiEi (9) g

Which is the only Ristoricat monument which cas be seen by naked oy i

the moon ?

(1) The Leaning Tower of Pjsa (2) The Statue of Liberty, New York
(3) Tge Em[’%ram;d;;f Egypt . (4} The Great Wall of Ching,

H -7 &qel T VTt yaq § ot 7 ot ¥ o
?? 7 g | TN A A 7 ey
(1) S A & AR (2) e Rers waemmy -
(3) fwr 3 RS @) = @ G TR

If COW is coded as 358, WORDP is cGtted-ag 8571 ang

: D ;
then how wotld yirensode the word COWARD ? RAWISGUdedasl

708,

T ORAW 3
COWARD w1 s #e.gm 7 Y 1708 & a
4 307381

ot COW @ B 358 & WORD 3 mys g5yt 2

(1) 358017 (2) 358071 (3) 358077
(19)
PTo
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98. Mohan consistently runs 515 metres everyday. In how many days will he run

100.

101.

102.

8.24 kms ?
Ae wfafas 515 frex Srear & | Rt R # g 8.24 fEA dem ?
(1) 14 (2) 16 (3) 18 4y 24

A man said to a lady, "Your mother’s husband's sister is my aunt.” How is the
lady related to the man ?

(1) Mother (2) Daughter

(3) Sister (4) Grand daughter

UH A A UF AR N F Srqa W @ ofy @ med A g B 9 AR B
T oAl O . e ® 7

1) = @ =

(3) o&F (4) dmT

From the top of a hill, the angle of depression of two consecutive kilometer
stones due east are found to be 30° and 45° respectively. If ¥3 = 1734, then
height of hill will be :

(1) 2km @) 173¢km  (3) 1.534km (@) 137 km

St e A ¥ B R ¥ Rerg @ e Rpeliey § e 3 ST
ﬁmm%“ﬁmé?%!ﬂ'ﬁﬁ=1.?3¢,ﬂ’TﬂE1€f$ﬂ‘fﬁaﬁ$ﬂT‘s‘€Fﬁt

(1) 2 & (2) 1.734 fh (3) 1.534 foht (4y 1.37 foei
If the surface area of a sphere is 616 cm?, then its vlalun'le is [n = r*;—z] :
(1) 1450 cot’ (2) 1437.33 cm’®
(3y 1537.66 o’ (4) 1500 cm® o
ﬁwﬁaﬁmaﬁm616a##ﬂ%.ﬁ‘!3ﬂ7h?fﬁm%.\u=—7-g.
1) 1450 T4 | | (2) -1437.33 9A° : '

b =

o) 1537.66 T (@) 1500 i

d internal diameter of a hemisphere shell are 18 ¢m and 16 cm

The ex:;:;;l. ?[Itllc total surface area of chell used for painting will be :

"ESP‘E;. o (2) 580 em?

tn 62 237 o’ (4) 562.57 e’

ol ST A T & R €

1) 0% (&) 5623 ¢

(20)
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~Mean of é number is 20. If one number is excluded, their mean is 22. The

excluded number is :

6 woarll @1 e 20 #) 9f v HEm Ree & 91 o S9% e 0 8
RN | Pl T W @ A 2 :

1) 5 @ 6 @10 @12

Simplest form of : 3
NG 94-553-2;@—5&::5 (1 wvmmew WY ) :

(1) 246 2 Vo ) 36 @ V6

The sum of two numbers is 108 and one of them is 35% of the other. The greater
number is : '

i{‘l”ﬁ'@ﬁﬁﬁrmﬂms%annqaiﬂwiﬂﬁ?mnaﬁ%%%ra@ﬁmﬂﬁmﬂ

(1) 80 (2) 9p {3) 70 {4) 85

Which of the following statements is not correct 7

(1) In Indiar Constitution the total nifmbes of Artictes 15395,

{2) Finance Commission is formed under Article 280 of Indian Constitution.
(3) Madam Cama was the ﬁrstm.m:anpmﬁid%tqf#hdian National Congress.
1) Politics in India’ is Rajni Kothati's guide research’stu@y"

Freafaiyg wasl § FI-Er TE TR 7

(1) i sfeemT ¥ er ool o wham 395 ¥ |

(2) Rt o 1 om Wl R 3 e 260 % sfetar o o 8

(3) *rew B HRA T Wi Y e wfer sveme ot :

(@) AR 5 R T T 1 v T s B

From the following which's U hewest nationiof the world ?

1) Eritri 2) Ethiopia on ;

@ Entmﬁ. m_ﬁé) P ~ (3) Congo (4) St Sugan
(1) hfan 2) st @) & ® 2 e
What is the full form of 1517 |

(1) Inter-service Intelligence (2) Inter-state intelligen

(3) India seciirity Titesnatiqnal (4) None of these
ISl & R AW w8 7

(1} gev-uiia F2aew O IRERE 3t

() R iR Fevra (4) T ¥ FE

-

(21)
PTo.
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109, In which of the following, there is no reservation for any caste y

(1) Rajva Sabha (2} Jammu & Kashmir Vidhan Mandal
{3) Rajya Vidhan Parishads (4) All of the above
By 8 Bt/ fe Rl anfa @ fory aTRE TEE T
(1) Tom =4 (2) @ T BT AU FE
(3) ¥ fEre ufnd (4) BRI TH
110. From the following who was the member of Lok Sabha during his Prime
Ministership ?
(1) Devgauda (2) 1.K. Gujral
(3) Chandra Shekhar (4) Dr. Manmghanxsmgh
P % Q@ B A TEEE S e $ wEe o 7
(1) TEis (2) amEo o TS
(3) TERER ' () €t wE RiE
111, Among the following who became Prime Minster more than once 7 Select the
correct answer from the codes given below :
a. Jawahar Lal Nehru b. Indira Gandhi
v Gulear Tal Banda d. Atal Bi hari Bd]?ﬂi
(1) aand b (2) aandc (3) a,bandd  (4) All of the abuve
Wﬁﬁﬁﬁﬂwﬁmwmﬁgﬂﬁguﬁ?#ﬂﬁﬁf@fﬂ
qEt SR P I B
A AR WA NEE b, Efew T
¢, TN AR e d. e e g
1) asikb (@ a IR ¢ @) abdARd (4) S @
442. To whom Indian President address his resignation lelter ?
{1y Lok Gabha Speaker - {2) Vice-President
(3) prime Minister (4) Chief Justice ol Supereme Courl
Wa@q@qﬁimwﬁmﬂﬁﬁ%ﬁﬂﬁﬁﬁ%?
' SIH|TE ™ F IR FTTTEN S
(3) W (4) ﬂfﬁ‘ﬂ.w T I
143, How paany fundamental dulies are in Indian constitution ?
[11 H'nra {2‘] E].E'VEI\ |:3) TWF].\’E {{1.} T‘-“*Eﬂ.t}'
2 - 5 "'}
“ﬂﬂwgﬁaﬁ i frare M e ¥ ¢
a (2) g (3) IxE 4) &
()

(22)
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By which constitutional amendment 10 fundamental duties have been added to
constitubion for Indian Citizens ?

(1} 2dth (2) 38th (3) 44th (43 42nd
ﬁrﬂﬁﬁwmﬁshaﬁmmwﬁu?mﬁﬁﬁmmﬁaﬁmﬁﬁm?ﬁmﬂe?
(1) 243 (2) 38¢ (3) 444 o {4) 42F

Arrange the following in chronelogical order :

A, Dandi March

B. Simon Commission

C. Poona Pact

D. Gandhi-lrwin Pact

(1) B,A,C,D (2) B,A,D,C
3) DLC,AB 4) D,C, B, A
R & ST 57 ¥ oraRert R -

A. SIE A '

B, wEmw wiee

C. g e

D. wiei-gefa dae

(1) B,A,C,D (2) B,A,D,C
(3) D,C,A,B (1) D,C,B, A

Why did the Non-cooperation Movement evoke poor response in Maharashtra
and Karnataka ?

(1) The Congress was not popular in these territories

(2) The upper castes opposed the anti-untouchability content of the movemen!
(3) The capitalists in these areas opposed the boycott of foferpn Poods

(4) The populirization of Chazkha was not successful in these territorjeg

F1 FBRTS, ok weifed § sea ol & dwe sfcfar Fer %t »

(1) ¥ eRedior 7 B soofl W ot oy

(2) = i A ar<rert B B s ey @y e

(3) Fﬁﬁﬁfﬁlﬁ#ﬁ%ﬁmﬁ‘ﬁ IAPIC BT fiveer iy

() 7 Mela § st @ ASwar g i of

(29)
PTO.
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417. Who were the three revolutionaries hanged on the charge of Kakori case ?

118.

A. Ramprasad Bismil

B. Manmatu Gupta

C. Rajendranath Lahiri

. Ashfaguallah

(1) A,BandC (2) B,Cand D
(3) A, BandD (4) A,CandD
%ﬁﬁmmﬁmiﬁ?ﬁﬁﬂvmﬁmﬂ?mrﬁﬁﬁ 2 @ g o7
A. vageTe R

B. #¥Fg T

C. worg Y i

D. Sz

(1) A, BeerC () B,Ca=D
{3) A, B g D (4) A, C, Tl D

Match List 1 with List 11 and select the correct answer nsing the codes given
below the lisis

List I List II
A. lLala Lajpat Rai i.  Servants of Indian Seciety
B. Bal Gangadhar Tilak ii. The Pioneer
C. Gopal Krishna Gokhale iii. The Young India
D. Mahatma Gandhi ~jv. The Kesari

v. Navijeevan

Codes !

s B € D
(1) i W i Vi
@i " *
(4) i w v

(24)
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OB Gl BB L T L I e S —
BT :

sl T I
A. T S I i wdvew I gitegs s
B. @ TR few ii. AR
C. " T e fii, 7 9% g
D. wgrem e iv. Fa

v. wgoiad

BIE:

A B C D
(1) i v i v
() i i i v
3) 1 i ive i
(4) iii v v i

Wheo was the Vicem}r when the Simon Commission vigited India ?

(1) Chelmsford (2} Reading
 (3) Irwin (4) Wellington

T WA FAT ART A T AR @ ar 7

(1) s=me (2) A

(3) gfdA 4y e

Lord Warren Hastings was not associated with :

(1) Rohilla war (2) Chait Singh's case

(3) Afghan war (4) Nand Kumar's cag,

g ane eReTe wald 8 o

(1) fen g€ 9 (2) ¥ Rig & aw o

(3) FHTH T ¥ (& TR 2y 3
(25)

BTty
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SECTION -1
g -l
LANGUAGE : ENGLISH

(For Candidates Opting English Language)

Note : Four aiternatives are given as possible answers to each question. Give Hhe correct
choice as an answer.

Direction for Q. Nos, 121 to 124 Selact the word nearest in meaning, to the given waord :
121. Code:

{1} Design (2) ldeas (3) Aselofrules (4) Lines
122, Sphere:

(1} Boundary (2) Area (3} Walls (4) Fence -
123. Dedication : )

(1) Liberal (2) Sincetity (3) Love (4) Devation
124, Significant :

(1) [mportant (2) Popular {3) Famous (4) Known

Direction for Q. Nos. 125 10 128 : Select the word opposite in meaning to the given word :
125. Fact:

(1) File (2) Truth (3) Fiction () Famous
126. Crazy:
(1) Mad (2) Sane ~ (3) Cunning (4) Clever
127, Brave:
{1y Careless (2) Virile (3) Strong (4) Cowardly
128, Tame: -
(1) wild {2y Pet (3) Domeshc (4) Playmatg
Direction for & Nos. 129 to 132 : Sclect the word which can be substituted for the
jven group of words :
529_ One who looks on the bright side of things H |
(1) Cheerful (2) Happy (3) Oplimist {4) Modern
5p. Onewho wotks for free:
1 (1) Labour (2) Worker (3) Cheap (4) Volunteer
: . Itk AT ‘hErE: .
One who 15 present everyw
133 () Oranipresent  (2) Spread ) (3) Popular (4} Famous
.o for which no salary is paid :
132. APTT (2) Wages (3) Honorary (4) Free
Fl} 1: ‘Nos.133t0 136 Select the word which has been correctly speit.
Direction ﬂache\m (2) diriction (3) showar (4) prammar
133. (U7 grmetion " (2) education (3) averege (4) eduetion
136 070 ge (@) latiatde (3) atenteve (&) advamere
135. (0 Jecation @ appriciation  (3) association () aplose

426, (1) @ (26)



17U/104/1(Set-l)

Direction for Q. Nos. 137 to 140 : Fill in the blanks with the correct word -

137. Please .................. your name.

(1) right (2) rite (3) write (4} ryte
138. Shehasa .................. dog.

(1) now (2) nyw (3) knew (4) new
139. fwill .................. all packages.

(1) accept (2) except (3) acept (4) aspect
140, ﬁerepnrterw&aunahletn.......,..,.......informal—iunfmmthepc]im.

(1) allege {2) allict (3) illict (4) elicit

Direction for Q. Nos. 141 to 144 : Select the part of speech of the underlined word in
the given sentences : '

141, Deb wails patiently while Barnali books the tickets.

(1) noun 2) adverb (3} verb " (4) pronoun
142.  The old man lives in solitude.

(1) adjective (2) noun (3) verb (4) adverb
143. 1saw three kids,

(1) verb (2} noun

(3) preposition : (4) adjective
144. Oh ! You scared me!

(1} interjection (2) comjunction  (3) preposition  (4) adverb
Direction for (. Nos. 145 to 148 : Select the correct tags to corplete the following
sentences :

145. Youare COTONE woovcvcsrirennens : ;

{1) Areyou? (2} Aren't you ? (3) Will you? (9 Won't you ?
148, 1t isn't r2ining ......umummmemmeens « -

(1) Hasit? (2) Willit? 3y Is{t?
147.  We have finished .....orvceeiee .

(1) Didn'twe? - (2) Haven'twe? (3) Have we ? 4) .
148. They will help, S —— “ are we?

(1) Would they ?  (2) Caf they ? (3) Will they @ w,
Direction for (. Nos. 149 & 150 : Choose (he correct option to ml\hq ont they ?

@) Can'tjs»

part of the given senfénce :- ' . “ the Underlingg
149, All of the homework assigned to the students should to be co.

Tuesday. ’ | _ eeed by nNext

(1) istobe (2) aretobe - @) cantobe-- (4
150. " have the b{)ﬂkl PLLrCh&SEd from the bookstore. D[} vou have Your ?ﬂq'_bf_i

(1) Haven't your . {2) have yon

{3) Do you (4) Doyqu haye yours

- (2r)

PY,
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SECTION - I
s - i
e« ey
| st 3% ) Prenfefel & forg)
frder, Pt sl A (1), (), (@) T (4) TG B ARAN Awfew w R T g
Bt & oY 1 @ @ &) o Het 9T 3
151, Eraffee ¥ whw o wge W 8 7

(1) (2) o NG (4) &
152, e AR Rerd ) @t ¥ 7@ w7 | |

(1) g (2) Hforeh (3) T (4) s
153,  <poreerr® fa=dt & Al 2

(1) e (2) F=eh (3) A (4) Al
154. =1 Fém‘a?ﬁ":r?a%mﬁ%?
: (1} g=a (2) =y . (3) e (4) ®Ted
155, freafaRe § e 2ia w8 7 |

(1) @ @ ¥ (3 4 &
156. qﬁﬁ?ﬂ#‘%ﬁwﬂ?w%? |
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